N = 0l & At & Ml A

20202 &= =0 &b LS &H

SN AEERD
Hal: OEE

Al REZS SIE T T olE
CHRl: THYH. RHOH AF& CHHI (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
orM EZ 2 8,129,004 9,743,000 AN 1,613,996
= 521,050
= 199,966
Al 7,407,988
OFMET Al =2 st Y. Mol ol 5,480,931 7,233,578 N 1,752,647
= 507,441
o= 89,420
Al 4,884,070
THH . THOH AFE CHHI 2,354,356 3,905,567 AN 1,551,211
= 507,441
o 46,220
Al 1,800,695
MolSeaaad 39,310 41,390 A2,080
201 et 9| 31,420 33,020 A 1,600
01 AR 22l ] 31,420 33,020 A 1,600
OMUEeAZ TRl Y 2
270,000 2CH *33] 1,620
OMUaEA A EI4 2 80,000& *53] 400
OMUBSAsa 2A)| EH 7Y
300,000 x1CH *x23] 600
OMargts 22 +¢ 28,800
— X G 60,0003 «x1H *115 6,900
— =X 4G 60,000 1 +365L 21,900
202 o4l 2,220 2,700 A 480
01 2Ll 2,220 2,700 AN 480
OXATHH S ns &4 60,000 *3H *13] 180
ORSTHE STHELY BEHS
60,000& »2H x22U x23| 480
OAIE Mol gaty 2E N &4
0,000& 1Y x4 240
OMHOtN sS4 s FA
60,000& »4H %22 x23| 960
OMUYADNHEDNE L AlgdEd &2
60,000& 2L *33| 360
206 M = Hl 5,670 5,670 0
01 X2 4| 5,670 5,670 0
OXATHHCHZ =X 2
283,500 x5 = x43| 5,670
HI20 MBS RS N 75,760 475,940 A 400,180
= 26,440
Al 49,320
201 et 9| 45,000 45,000 0
= 22,500
Al 22,500
01 At 22l ] 45,000 45,000 0




SN AEERD
Hal: OEE

=

i
2m

O0N2s 222 N 11,000
—EAO W 100, 0008 *5% %93 4,500
< 2,250
Al 2,250
—222(22Y S) M
500,0002 x2% *33] 3,000
= 1,500
Al 1,500
— oD W 70,0002 ¥55 +103] 3,500
< 1,750
Al 1,750
OotE2s DEND ME 8,000
— PPT I 1,000,0002 *23] 2,000
= 1,000
Al 1,000
—DEUT M 1,000,0002! *3% 3,000
= 1,500
Al 1,500
—SYN MR 3,000,000 *15 3,000
= 1,500
Al 1,500
OMLHAINT FIIAA BR22E
60,0002 ¥3000+ 18,000
= 9,000
Al 9,000
ogEag AAaY 30,3002 x2 #1323 8,000
= 4,000
Al 4,000
202 01 bl 960 1,140 A 180
01 201 bl 960 1,140 A 180
OdE2ESS B 39 S &4
60,0002 x22 *33] 360
OUFSESE L AMFAY & =&
60,0002 ¥5 +23] 600
206 TH 2 bl 5,000 5,000 0
= 2,500
Al 2,500
01 2l 5,000 5,000 0
O AT FIIAE HYl N 7
5,000,000 * 12! 5,000
= 2,500
Al 2,500
301 LB FHI 24,800 24,800 0
= 1,440
Al 23,360
12 J|EHR & 2 24,800 24,800 0
OFEDA e TS 918 AHBOH HE
bl 10,0002 %40 *6235| 24,800




SN AEERD
Hal: OEE

Al =S st MY RHol ol gt
CHRl: THYH. RHOH AF& CHHI (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 1,440
Al 23,360
MRS = 134,940 116,032 18,908
201 gBt2A | 39,340 80,472 N41,132
01 AP 22| H| 39,340 80,472 N41,132
Oortd el HE ¥ #He A 16,400 %1008 1,640
OetdaAe e 228 2¢ 80,000& »20H 1,600
oAty JIsddUia g Xt
800,000 =3CH 2,400
oMo =222 HE 200,000& 10 2,000
OXgXse st 29 sz HE
10,000 1008 «1= 1,000
OXNAM E=dHsey H M
15,000 1008 «1= 1,500
OXESETHE BEAFR)I(0FZ) 22l
30,000& 120 3,600
ONZTS ets BEMOAS HALY
100,000 x3H %24 3| 7,200
OtF B2l MOISIHE &asg
100,000& *x17H *33] 5,100
OW2III2 28409 ds Hasg
100,000& *2H x23| 400
O 2e A=m S M
1,000,000 34! 3,000
OMH ol &e AL2E 2 55,000& *503] 2,750
ZE40lE2E S22 M 350,000& x3= 1,050
OMY(Mal) E2S2 M= 250,000 x8= 2,000
OMHtM s HI} H & 500,000 4= 2,000
Ozl X M& 10,0002 1008« 13| 1,000
O™ T AT & X 100, 000& 50 A1 500
OMLtot ™ M (safe line) HIZE
20,000 *3004 &~ 600
202 044l 3,400 3,880 AN480
01 2L I 3,400 3,880 AN480
OMt2el & AlZgotdE Aol &4
60,000& *4H 22 %2 3| 960
OEHH2IANAEZE otd2el XA 0|
20,0003 »2H x5 x7 3| 1,400
OASEEAALEE otx2te] SEI A
20,000 2H %53 200
OCEAN R A S SEH XA
60,0003 »2H *7 x 13| 840
203 ¥ 2 = &4 7,000 6,000 1,000
03 Al =& 2 = X H| 7,000 6,000 1,000
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SN AEERD
Hal: OEE

Al =S A8 T THOH ol
Chels W THGH AFR CHBI (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 At 22l 4,620 0 4,620
OAlgigtde|d &8ss +¢ 70,0002 16 1,120
OX0tite s NENE 2L
300,000& 50 = OF 1,500
OAlglotdeld A&2ds 1=
1,000,000& *23l 2,000
202 (44l 2,400 3,000 A 600
01 = LH o4 1l 2,400 3,000 A 600
OZEAd &= gRE2 60,0003 *8H *53] 2,400
301 LEd = 44,640 960 43,680
09 SALAHIX A S 800 960 A 160
Ot uE & A A 24
20,000& »40H 800
12 JIEHE4 = 43,840 0 43,840
O&=&A HNH 2314 12,000, 000& 13| 12,000
OAlgIotE2IH 2HA 40,000& x7963l 31,840
401 AIEHIZ 28I 163,000 0 163,000
01 A& Hl 163,000 0 163,000
Oy ety =
130,000, 000& 14 130,000
OFMFLAHES =EE L2LAE XIAAS (2K
1) 33,0002 *1,000Al CH 33,000
IE WY HS 22(23X) 7,400 7,400 0
= 3,700
< 1,850
Al 1,850
201 Let24d] 6,400 6,400 0
= 3,200
< 1,600
Al 1,600
01 At 2teltl 6,400 6,400 0
Ootdst=gd g2 s HMZ 3,240
—SYHS Al &= 60,0002 #2404 2 1,440
= 720
= 360
Al 360
—Sus 8xY 200,000 *8H A 1,600
= 800
< 400
Al 400
— BH U A= 50,000& *4H 200
= 100
< 50
Al 50
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SN AEERD
Hal: OEE

Al =S st MY RHol ol gt
CHRl: THYH. RHOH AF& CHHI (2 &HH)
L3
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
Al 1,500
2=0/X9Y S EAE HH| 670,500 x4 2,682
= 1,341
Al 1,341
OS=0lXY 0l=s4 HXL AX
1,800,000 104 & 1,800
= 900
Al 900
Mol AIAE S22 176,408 176,408 0
201 2Et2Hy| 176,408 176,408 0
02 B32%H| 176,408 176,408 0
OXAME ZAlE CCTV € XAHSZI| RAL
&= 250,000 *300H A&~ 7,500
OMlS & T MIIANES
15,0002 x4 x12& 720
OX+ FA Y AAE S8
500,000& 304 A~ 1,500
OMlS & 2T XS 500,000& 204 &~ 1,000
OMBHAAE AEEFI] AIERE
132,000& »12&€ 1,584
Ox=fESHI 4 AEE
50,0002 *x2 A 128 1,200
OMUGESLAAAE MIIAMNE2
2,500 *3000 A x12& 900
OMUEASULAAALE SMAMNE2
88,0003 30 A~ +6& 15,840
OMolEEANAE EXNRB
5,000 *4460H &~ +5& 11,150
OML & JIAaFEE d2MHEIA(2R)0IER2
200,000& x12& 2,400
OMYAID 8ZXEA D, HIE AIB2
207,000 2= 414
ORANE A2 SN2
120,000& * 16 A+ 10E 19,200
ORHSHERANAY SX24
50,000& *4400H 2~ 22,000
OuEEAAE 2222 7,500,000 x12& 90,000
Ost=28HE s S35t 1,000,000& 13| 1,000
THet . THoll I ZEAAE RS ALY 73,500 300,000 A 226,500
201 et 42,000 0 42,000
02 2324 42,000 0 42,000
OUBEAAY HIIHY 8
40,000 x525JH A~ %23 42,000
401 AlEHIZL S 0HY| 31,500 300,000 A 268,500
01 Al& H| 31,500 300,000 A 268,500
OlEEANAEY RXES 31,500,000& = 14! 31,500




2N

M HME Al =S I8t THEH THoll ol
Chels W THGH AFR CHBI (&)
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
SEMASUAEXNSZHHI AL (AZ) 1,000,000 2,620,000 A 1,620,000
= 500,000
Al 500,000
401 Al Bl 28I ,000,000 2,620,000 A 1,620,000
= 500,000
Al 500,000
01 A& Bl 993,520 2,607,616 A 1,614,096
Ozd16X 7 S3AX SUASXE FHIAE
794,960,000 =10 A 794,960
= 400,000
Al 394,960
Ozd24X 7 S3AMX SUASXAE FHIAE
198,560,000 *1JH 2 198,560
= 100,000
Al 98,560
03 Al 2 THHI 6,480 12,384 A5,904
Ozd16X 7 S3AX SUASXAE FHIAE
£ gl 800,000,000& *0.63% 5,040
Ozd24X 7 S3AMX SUASXAE FHIAE
£ gl 200,000,000& *0.72% 1,440
= 2 ALY 424,800 0 424,800
201 Let249] 19,800 0 19,800
02 =224l 19,800 0 19,800
OOs9 etdEH A 60,0002 *550H 2«6 19,800
401 Al I 28I 405,000 0 405,000
01 A& HI 405,000 0 405,000
F A&z 2RI MY
15,000, 000& 14! 15,000
OSZEAAY HIMS (BHE~L2A X )
1,000, 000& *300m 300,000
OZg MZAN4E XM (AKEDSsY HX)
9,000,000 *109H 2 90,000
nsSAtD #Bt =010 At 35,860 0 35,860
= 17,930
Al 17,930
201 LB-2dH| 15,860 0 15,860
< 7,930
Al 7,930
01 At 2t 2l 15,860 0 15,860
Ounsetdgs 7Y 8,600,000& 14! 8,600
= 4,300
Al 4,300
OAMUHA =220 M 7,260,000 » 14! 7,260
< 3,630
Al 3,630




SN AEERD
Hal: OEE

Al =S A8 T THOH ol
Chels W THGH AFR CHBI (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 LEHZ 20,000 0 20,000
< 10,000
Al 10,000
12JEEd=S 20,000 0 20,000
OngXt 2HHGIS gty QHEE
100,000& 200 20,000
< 10,000
Al 10,000
EJ RUSSEE PR =S| 62,000 0 62,000
201 Let249y| 6,000 0 6,000
01 At 22/l 6,000 0 6,000
O=JttddHt 222 S MHA
2003 *10,0002 %35 6,000
301 LeHEBAF 56,000 0 56,000
12 JIEtE4 = 56,000 0 56,000
OUAHEI} HAAL FEEY N2+
140,000 *20000 A x4 H «1/2 56,000
ol ord ol 3,126,575 3,328,011 A 201,436
= 43,200
Al 3,083,375
SES2MAH 22 € 29 2,896,575 3,328,011 A 431,436
201 Let24d] 2,545,315 2,546,611 A 1,296
01 At 22l 28,004 29,300 A1,296
OCCTV 2YRIBs FHa4g
100,000 »4H 23] 800
OSg2NHEH 22 HE 654,000& x 13| 654
OF4I o BIHIYI S Yn2
50,0003 =401 122 2,400
OSMII ZB8H S MRES 7Y
300,000& 122 3,600
OZg2NEH 28 2258 7¢
350,000& 122 4,200
OFTE2HEH HI| c+A 22| 800,000& 128 9,600
OHI&# Aleld &2 otiet X
50,000 *80CH 4,000
OCCTV Z28 A2ZEQ0 22 55,0003 «5004 2,750
02 =24l 2,517,311 2,517,311 0
oYl CCTV #IILeS3 2,500,000& x12& 30,000
Ogd CCTV 2d L= 50,000,000& x12& 600,000
OSEgZHHH M3 14,000,000& = 12& 168,000
OZTEZHUE LotSAI(AY, S2I1)
10,000& »23| & «12& 240
OSE2HEH &Y CCTV 22> 89
7,000,000& x12& 84,000




2N

M HHECA =S RS L THoH ol
Chel: PIM oL 0 (sl &2)
. SfE|
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Odladl AlIAE RIS 1,000,000& »12& 12,000
OSE2MEH WERT RANE> Y
1,000,000& »12& 12,000
OsSE2HHH M SXE= 666,000& 122 7,992
OSE2MHH HOIH HEEX S22
300,000& 122 3,600
Osg2H4dE HoIeH MNEEX RXE=>
1,666,000& 122 19,992
OSg2HHH Jtast AZEANNH FXNE=
416,000& 123 4,992
OSE2MEH MHEt2e FXE =
550,000& 122 6,600
OSE2NdH SaddEet=2e A2
450,000& 123 5,400
OSE2HHEH 2B A E=
150,000& =122 1,800
OSE2MEH LHH RAE=
150,000& =128 1,800
OSEZMUH gaze ATEYH RXNES
3,000,000& x12& 36,000
OsgzaH 9428 E221d |RIE=S
1,500,000& 122 18,000
Osg2HdEH CCTV 22X
120,000,000& =12 1,440,000
OXS8n HHUAAL B
3,000,000& x12& 36,000
OZE2MHEH A22AE A2
400,000& 123 4,800
OS2NEEH s2IIAE FX 22
280,000 1228 3,360
OYHAIY AdHEE 24 2,500,000 43 10,000
OZSEZHNHEH AERIES 2,233,750 43| 8,935
OZTEHMME 28 W3 (4dl== S)
150,000& 128 1,800
202 (44l 2,340 2,700 A 360
01 S LHOIYI 2,340 2,700 A 360
OCCTV ol EEE S Y ZEotus FA
60,000 x2H 12 13| 120
OCCTV 2t = .59 319 &F4A
60,000 *3H » 1 23| 360
OCCTV SHE &2 o ol =&
20,000 *3H x5 53| 1,500
OsSg2MdH 282
60,000 *3H 22 13| 360
401 AIEHI L 2 CHYI 348,920 778,700 A 429,780
01 A& HI 346,562 778,700 A 432,138




SM: HHEZD
A OLM G A
(¢]

| .
ol DI OFE Oy CER-ED

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OAEECAIRS L-HAE & FX 22 SA
14,892,000& x5l 2 +23] 148,920
OXsd LYHAE ZA 59,568,000 x23| 119,136
O XTI Al SAH 911,720& 504 2 45,586
OXELY AL I3 A 20,000,000 =14l 20,000
OLBANE S A
3,230, 000& «24 2 *23] 12,920
03 A& =2 THHI 2,358 0 2,358
OUFEATE LHAE & RA22 SA R
Chyl 150,000, 000& *0.72% 1,080
OXsg L-AIE SA 20l
120,000,000& *0.72% 864
OYXULCIXC AlE SA 20
46,000,000 x0.9% 414
A QIOHM & & 230,000 0 230,000
< 43,200
Al 186,800
301 LEENZ 230,000 0 230,000
= 43,200
Al 186,800
12 JIEEd = 230,000 0 230,000
OAlRIotMEH 800& *287,500H 230,000
< 43,200
Al 186,800
orgrel 29 1,171,377 1,162,555 8,822
= 13,609
< 110,546
Al 1,047,222
grerel zte| 1,171,377 1,162,555 8,822
= 13,609
= 110,546
Al 1,047,222
olgtel s 234 N2 21,992 23,914 A1,922
= 5,479
< 4,865
Al 11,648
301 LA F 21,992 10,329 11,663
= 5,479
< 4,865
Al 11,648
09 #HALAHIXI &3 8,407 10,329 A1,922
OpIgsl 2l ¢4 644,0008! * 14! 644
= 192
< 128
Al 324
OJIzXdl s d2uUs N&
4,329,000& =14 4,329
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